














goal is to find and eliminate dead time or time spent waiting for
something to happen



when components are good citizens, we’ll experience good
performance

when component are not good citizens, we’ll experience poor
performance

Look at monitoring data and ask, what does it mean in the box
use that information to help guide our search for latency



All performance decisions are guided by the user experience
starting trigger and ending condition



We can’t go faster than our hardware
nonsharable = Queuing
Everything else will prevent us from going fas



memory management is the important item
thread scheduling, interrupt handling, interacting with devices



All performance decisions are guided by the user experience

External systems may show up as a kernel problem or as parked
threads

thread pools as this level
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1.2G/sec on this machine



1.2 gigs is about all this machine will tolerate
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debuggable question



focus on layer with largest contribution



dominating consumer tells us the nature of the problem
time budgets tell us where the problem is









compaction?
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Java locks will push the problem into application CPU burn
can make it harder to find






1) GC Log viewing, followed by allocation stack traces
2) Thread dump followed by TDA



